EARAROBEEIERT — 2 N— IBISH —F

20185F4A8H (B) 1H=%12H

mﬂJﬁ‘E*‘iﬂ#ﬂU 7R3 ‘ (X4l W ‘ (5] — | 4 (h) 16000 &
[AE4£] 17 :800,000 @ ~ 23 :240,000  ~ 33#&:120,000 @ . 47 :80,000 @ .~ 5 7 :40,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 4l L7 4 3 z:gsffz;%ﬁ 1:(47).5 7-7-7-4 |47 — 3 448 ﬂg}#;?& (=)
RO-SXA AL BHATAF25T O g sy
olzlg|T7urvy it 3 E{'&ﬁiﬂ 1(:34/?4.)7 5-5-4-2 |42.2| — 1 462 ggéﬂz ()
R ZRXpYHR BTy TRE— (-8) ESiEbve]
3|55 X&—TF1UZR # 3 @glﬁof@ (11418/20> 4331 |47 — | 2 | 452 %ﬁégfﬂééﬁm
LEANFRTNG B ITHFAT O m a
4|8l10| PF/TU— f 3 ;EZJ_'A% 1:(428).4 8887 |41.7| — | 6 | 417 Ei&%ﬁ (=)
RELFOYY BATY )| il ass
5 3| NEZ i 3 5514*3%‘7 1:(418).6 2-2-2-3 | 43.7| — 7 431 g”gg?‘g (=)
QAZ—Ea1-X BiS-5TLy4 O s
slalo| ¥ LENUKR— R 4 3 514?(3)1%1 1(:14/82.)7 6-6-6-6 |42.9| — 4 419 ?SQL'E?& (=)
Z:Z2hardNE—r BTTFFvL (+6) BE f5—
7 o| /v ba—TH1> 4 3 Ef’%ﬁﬂ 1:(?).4 9-9-9-8 |42.4| — 9 429 Qgiﬁl (&%)
RAXATLR BTANRAT—Ta ) 1557 kas
8l Samsa—44% i 3 giﬂlaﬁ&l 1:(560).6 1-1-1-5 | 45.8| — 8 437 ﬁzgg (&)
QR TR A—Tp—H— K §:¥a9sa—ap3 0 | mnmig
9 6lUT—KATL v #3 | KBAE 1:(572).0 3-4-5-9 |46.4| — | 5 | 527 gﬁ%ﬁ (=)
RTYIT—L B UT—ETF Y O gman vo—r
N BEPE EE | e | || e
R:O—KpFAT7 B:TVIST FrlEALXT7—L
® 1—F—@EBIERL
13=2F= 1,3,6,5,8,9,4,10,2
2a=5F= 1,3,5,6,8,9,4,10,2
== 1,3,5,8,6,9,4,10,2
40 —F— 5,8,3,4,1,9,10,2,6
[ N5
B 4 610M 714K 4-8 160M e E 4-7 400 3EE 4-5-8 320
B B 4 120M 4-5 200M B = 4-8 380M JEE 4-8-5 3,010/
8 100M 5-8 140 B H 4-8 1,060M
5 1009

ABICOVWTRDTEEERROODE. TR LIV,




